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I "y mwn: general procedures and fine amounts for nw1a
a  If:he boxed a fellow’s ear (or blew a horn into it?) — 1y%o
i Dissent: nTyp 1 citing 31— 1 mn
1 Question: is this *1x mn (4 5o) or Ny Mn (1/2 yHo)?
(a) Answer: story of fellow who was brought before nk»wi nTn "1 for boxing a fellow’s ear; nr*w1 »1 told him
to pay ¥ min, declaring “here I am and so is »"n"”
(b) Meaningl: “I am the witness and 2”0 ruled mn”
(i) Challenge: can the 1y become a 17?
(if) Backup: dispute »"1/0™ re: 111010 who witness a murder — even v only allows for some to testify
while others judge; but all agree that 71 nwy) 1 PR
(iii) Block: perhaps that dispute was in a case where they saw the murder at night, and now are coming to
rule based on nynWY — but v generally holds that 17 "Y1 Ty (and nXR*w1 > follows him)
(iv) Challenge: y™ seems to accept notion that 1»1 nwy1 1y, as evidenced by his retort to " nn wv™:
1. V1: ™ — evidence of murder must be available to witnesses and court (07 n*1p)
a. y”7.series of challenges (e.g. 72 cannot see theforce he used) — implication that if it was done
in presence of 771 they could testify (1v> 177)
b.  Rather: evidence and circumstances of murder must be seen by witnesses (only)
c.  Answer: he was responding as per v"1’s approach, but he rejects 1771 nwy1 7
2. Associated 81772 a on M that killed and damaged is only judged for mwai, not mann, ™n is both
a.  But:if they judged mwa first, they cannot then judge for mnnn (damage)
b.  Reason: 11 721 1321 — follows »nnn w™, requiring evidence to be available to court (9po1 MwN)
i. > we require 7"2’s assessment of pn (size and strength of ox etc.)
c. Reason: na1 (responding to them) — could follow »™ — if the owner fled — 192 R5R 17 pan PR
i.  Challenge: if he fled, how can we even judge mnnn?
ii. Answer: if we had already accepted the o1y
iii. However: from what assets will the mnnn be collected?
iv. Answer: we use the ox for work and use that to pay
v. Implication: work of the ox is considered 2v°n (and not M ¥ 1911) > cannot be used to
pay for on »pn (only pays 191n)
(¢) Meaning2: “I agree with 3"n7” (and there are other witnesses)
b If he slapped him — 200 11
If: he slapped him with the back of his hand — 400 1t
d If: he tugged on his ear, pulled his hair, spit at him (and the spittle reached him) or uncovered a woman’s hair in the
market place — 400 1t
e  Rule of thumb: all is dependent on the position of the victim
i Dissent: "1 — even poorest should be seen as formerly wealthy people,since they are children of 2py” pn¥» ,on7aR
ii ~ Story: fellow uncovered a woman'’s hair in the mw, ™ fined him 400 11; fellow proved that she wasn’t careful about
keeping her hair covered, but " pointed out that a person, though he may not do so, if he hurts himself is exempt,
but others who hurt him are liable
1 Note: if a person chops down his own trees — which he may not do - he is still exempt, ‘tho others are liable
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